COMP Elementary – Summer 2016 Day 5

Problems with Oranges
Three friends were eating oranges.


David ate 
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 of an orange.


Elissa ate 
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of an orange.


Freda ate 
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 of an orange.

How many oranges did they have? _________

How much is left? Explain your thinking. _________

Three friends were eating oranges.


George ate 
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 of an orange.


Hiro ate 
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 of an orange.


Ian ate 
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 of an orange.

How many oranges did they have? _________

How much is left? Explain your thinking. _________

Three friends were eating oranges.


Jamaal ate 
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 of an orange.


Katie ate 
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 of an orange.


Laura ate 
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 of an orange.

How many oranges did they have? _________

How much is left? Explain your thinking. _________

Test Grading Problem
Consider the following situation:

Dr. Matney was grading a two page exam.  On the first page there were 4 problems and on the second page there were 6 problems.  As he grades, he likes to keep track of how many problems students answer correctly.  While grading Joshua’s exam Dr. Matney wrote 
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 on the first page and 
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 on the second page to indicate the amount Joshua got correct on each page.  When finished grading both pages Dr. Matney said 
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.  Did Dr. Matney add these two fractions correctly?  Why or why not?
Write a valid fraction addition word problem using at least two different denominators. 

Have a partner solve your problem explaining and representing their mathematical thinking to find the sum. 
Golden Apples Problem

A prince picked a basketful of golden apples from the enchanted apple tree.  While walking by the river on his way home he tripped on a tree stump and lost one-half of the apples, plus two more, as the river carried them away.  The prince got back up and set off again through the enchanted forest.  Next, a thief stole one-half of the apples plus 2 more before the prince knew what was going on.  The prince clung to the remaining apples and set off again.  Just as the prince was crossing the bridge to his homeland a troll jumped in front of him and demanded one-half of the remaining apples, plus two more.  The prince paid him, and sadly went home.  He had only two golden apples left.

1) How many apples had the prince picked?

2) If the prince had four apples left when he went home, then how many apples had he picked?  What if he had five apples left?  Six apples?

3) Predict from your answers in question 2 what the starting number of apples would be if the prince had 20 apples left when he arrived home.
Adapted from Driscoll (2001) Fostering Algebraic Thinking Toolkit
Analyzing Fraction Story Problems for Addition and Subtraction

1. Which of following problems can be solved by adding [image: image14.png]


?  Explain your reasoning.

a.  Sedona ate [image: image16.png]


 of a pizza yesterday.  Today she ate [image: image18.png]


 of what was left.  How much pizza did Sedona eat in all?

b.  [image: image20.png]


 of Joel’s shirts have the color red on them somewhere.  [image: image22.png]


 of Joel’s shirts have the color blue on them somewhere.  What fraction of Joel’s shirts have either red or blue on them somewhere?

c.  In Washington County, [image: image24.png]


 of the registered female voters, and [image: image26.png]


 of the registered male voters voted for the health services levy.  What fraction of the registered voters in Washington County voted for the health services levy?

d. .  Starting at her dorm, Kayla ran [image: image27.png]


 mile toward the coffee house.  She dropped her money, so she turned around and ran 
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mile back to pick it up.  How far did Kayla run? 

2.  Which of the following problems can be solved by subtracting 
[image: image29.wmf]?

3

2

4

3

-

  Explain your reasoning.

a.  Sam ate 
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 of a Papa John’s pizza for dinner.  Tom ate 
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of a Pizza Hut pizza for dinner.  How much more of a pizza did Sam eat than Tom?

b.  Starting at her dorm, Kayla ran 
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 mile toward the coffee house.  She dropped her money, so she turned around and ran 
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mile back to pick it up.  How far is Kayla from her dorm? 

c.  Bob buys 
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 pound of chocolate for a friend.  He eats 
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 of the chocolate before he gets home.  How much chocolate (in pounds) is left when he arrives at home?

d.  Joey buys 
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 pound of nails at the hardware store.  He uses 
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 pound of nails to build a bird feeder for his mother.  How many nails does he have left?

Rules for playing Take Part of What You Spin
This is a partner game:  everyone needs to play with a partner!  Partners will play together against another pair of partners.

Materials: 1 set of fraction tiles per person*, game spinners, a paper clip and a pencil.  *Fraction circles or squares may also be used.



Playing the game:

Round 1:  Taking HALF.  

1.  Each team puts down a fraction tile “whole”.  This will be the game board.  Decide which team will go first.

2.  For each round, teams take turns spinning the Round 1 spinner.  The spinning team selects the fraction tile that is half of what the spinner says, and puts this piece on the whole.  

3.  If the selected piece is too big to fit on the whole, then go to the next player.

4.  Play continues until one team has filled up the whole exactly.  This team is the winner.

Advanced play:  As the round is played, teams record their fractions and write number sentences with fractions to represent their game boards.

Round 2:  Taking HALF (again).

Use the round 2 spinner and play the game according to round 1 directions.

Round 3:  Taking THIRD.

Use the round 3 spinner and play the game according to round 1 directions except the spinning team will select a fraction tile that is a third of what the spinner says.

Adapted from Thornton, C.A. & Wells, J.K. (1995).  Making Sense of Fractions, Gr. 3 – 6.  Vernon Hills (IL):  Learning Resources.

[image: image1.wmf]3

8

[image: image87.wmf]2

1

SPINNERS

[image: image88.wmf]4

1

 Round 1
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Multiplication Story Problems

For each of the given story problems, finish the problem by asking the specific question that can be answered by finding the product of the given numbers.  Then draw a picture to find a solution to the problem.

1.  Sam walks at an average rate of 
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 miles per hour.  Sam plans to walk for 2 hours on Saturday.  
 
 


 


 

2.  There are six pieces of pizza left.  Jordan ate ¾ of the leftover pizza.   


Sub Sandwich Problem
Carol took her students on field trips related to the projects they were working on.  At one, pint, they went to several places in New York City to gather research. With the help of some parents, they scheduled four field trips in one day.  Four students went to the Museum of Natural History, five went to the Museum of Modern Art, eight went to Ellis Island and the Statue of Liberty, and the five remaining students went to the Planetarium.  The problem they ran into was that the school cafeteria staff had made seventeen submarine sandwiches for the kids for lunch.  They gave three sandwiches to the four kids going to the Museum of Natural History.  The five kids in the second group got four subs.  The eight kids going to Ellis Island got seven subs, and that left three for the five kids going to the Planetarium.  Because they were in different parts of the city, they did not all eat together.  The next day after talking about their trips, some kids complained that it had not been fair, that some kids got more to eat.  What do you think about this?  Were they right?  Carol would really like to work out a fair system ---- one where she would know how many subs to give each group when they go on field trips this year.  What would be a good system?

NAME:

Take a few moments to reflect on SMP’s connected to the content tasks we did today:

	Name of the task and related SMP’s
	Evidence for the chosen SMP’s

	
	


Jot down how you contributed to our shared community of professionals and what mathematical and/or pedagogical knowledge you are taking away from today:

SMP 1 Chicken and egg task

Students were presented with the following task: if [image: image40.png]


 chickens lay [image: image42.png]


 eggs in [image: image44.png]


 days, how long does it take 6 chickens to lay a dozen eggs. After reading the problem, students identified that three of the given values ([image: image46.png]


) were equivalent. They then began to look for relationships between these values and the goal of the task. Some students then thought through outside factors such as where are the chickens laying their eggs? Can they lay them at the same time? If so, how many are laying at one time? Etc. After considering these factors, they readdressed what the question was asking. Students made tables to explore some possibilities. One such table involved exploring how many[image: image48.png]


’s it would take to get 6 chickens.
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 Chickens = 6 Chickens
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 Eggs + [image: image62.png]
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 Eggs = 6 Eggs

[image: image66.png]
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 Days + [image: image70.png]


 Days + [image: image72.png]


 Days = 6 Days
These students concluded that it would take 6 days. This answer didn’t feel correct, but their table showed that they needed 4 groups of [image: image74.png]


 chickens to make 6 chickens. So didn’t they need four groups of eggs and days? The students then revised this answer saying “Oh, wait, we want 12 eggs not 6, so it should be 12 days.” They stood back and thought about this conjecture. One of the students said, “That seems like an awfully long time just to make 12 eggs and there are 6 chickens now. The students were still not sure what was wrong. To monitor, they carefully went over their work again. They then reconsidered that this seemed like too many days because they actually had 4 times as many chickens now as they did in the original statement; [image: image76.png]


 chickens became 6 chickens. They figured out that they needed to change courses on how they were thinking about time. They began by drawing out 6 chickens and using dividing lines to show the groups of[image: image78.png]


. The students worked to reconsider that 6 chickens could make 6 eggs in [image: image80.png]


 Days. So then 6 eggs + 6 eggs = 12 eggs means we need two [image: image82.png]


 day periods. [image: image84.png]


 days + [image: image86.png]


 days = 3 days. The students revised their answer to be three days for 6 Chickens to lay a dozen eggs.
� EMBED Equation.3  ���





1





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���








[image: image94.wmf]3

1

11

[image: image95.wmf]4

1

[image: image96.wmf]1

[image: image97.wmf]2

1

[image: image98.wmf]2

1

[image: image99.wmf]2

1

1

[image: image100.emf][image: image101.emf]_1527334152.unknown

_1527334204.unknown

_1527334257.unknown

_1527334278.unknown

_1527334242.unknown

_1527334178.unknown

_1400013295.unknown

_1527334052.unknown

_1527334068.unknown

_1400013520.unknown

_1527334033.unknown

_1400013653.unknown

_1400013447.unknown

_1400013484.unknown

_1400012795.unknown

_1400013102.unknown

_1400013233.unknown

_1400012490.unknown

_1400012785.unknown

_1400012067.unknown

_1400012235.unknown

